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Time: 2% Hrs Total Marks:75

N. B. - (1) All Questions are Compulsory.
(2) Figures to right indicate full marks.

Q. 1 a) Fill in the blanks (Any 8) (8)
1) has introduced multi — dimensional poverty index.

(@) R.B.I. (b) Planning Commission
(c) World Bank (d) Human Development Report 2010.
2) IS not adverse effects of urbanization.
(a) Rise in crime (b) Overcrowding
(c) Convenience (d) Congestion
3) Regional Rural Banks were established to provide finance to
(@) Village artisans (b) Agricultural labourers
(c) Small and marginal farmers (d) All the above
4) is the positive effects of Industrial Policy 1991.
(@) Unemployment (b) Reduced project cost and time
(c) Dominance of MNCs  (d) Inferior foreign technology
5) Government Policy on disinvestment was introduced in India since :
(a) 1980 (b) 1989 (c) 1991 (d) 1995
6) is an important types of tourism in India.
(a) Heritage tourism (b) Eco tourism
(c) Medical tourism (d) All the above
7) South Asian Free Trade Area (SAFTA) was formed under .
(@) SAARC (b) ASEAN (c) WTO (d) NAFTA
8) schemes was introduced under operational technology.
(a) Mobile banking (b) Electronic Fund Transfer (EFT)
(c) ATMs (d) All the above
9) does not constitute the structure of capital market in India.
(a) Mutual fund (b)R.B. I
(c) Industrial Securities Market (d) Gilt — edged market
10. are the main participants in the call money market.
(a) Co —operative banks (b) Primary dealers
(c) Commercial banks (d) All the above

Q. 1 b) State whether the following statements are True OR False. (Any 7) (7)
There are wide variations in unemployment across states in India.

Finance from traditional sources is easy to access.

A good and efficient marketing system is must for agricultural progress.

The New Industrial Policy was announced in July 1992.

The public sector enterprises have not contributed to the export earnings.

FDI (Foreign Direct Investment) is not permitted in insurance sector in Inida.

Foreign capital is not necessary to promote economic growth of developing countries.
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8. The commercial bill market in India is underdeveloped.
9. CRR and SLR are quantitative methods of credit control.

10. RTGs (Real Gross Settlements) has increased the efficiency of cheque clearing system.

Q. 2 a) Highlight the reasons for poor implementation of land reforms in India.

b) Analyze National Population Policy 2000.

OR
c) Examine government policies to generate employment in India.
d) What are the causes of income inequality?

Q. 3 a) Discuss the role of public sector in India.
b) Bring out major problems of industrial sector.
OR

c) Explain the measures introduced by government for development of small scale

industries.
d) Examine the features of New Industrial Policy (NI1P) 1991

Q. 4 a) Highlight the recent trends in insurance sector.
b) Explain the types of foreign capital.
OR
¢) Bring out the scope of service industry in India.

d) Examine the role of Multinational Corporations (MNCSs) in India.

Q. 5 a) Explain the reforms of Indian Money Market.
b) Explain the challenges of banking sector in India.
OR
Q. 5 Write Short Note On (Any 3)
a) NABARD
b) Disinvestment Policy
c) WTO
d) Important players in money market
e) SEBI
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